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1.9 | & = | & gafera Snforg den = fg v
HEl BT TSI A FEl IR BN I DIToTY—

-1 @) -1l Emr)
(@) wRAERY 1. FIISIS H Bl A T
oYy & fawg fHdl &1 e

(b) ST 2. HHATRAT BT Hered 9 BT 3T
(c) wfcmer 3. ATASITd BIATAd BT SR HRAT
(d) eReR 4. IR =TTl | fRA AT

BT DI Fod RATAT H RIFRIRT FBRAT
Z}?j : A B C D
@ 2 1 4 3
b 1 2 3 4
(© 2 4 1 3
d 4 3 1 2

1. Match List I with List 1l and select the correct answer

using the codes given below.

List I (Name of the Writ) List Il (Issued For)

(&) Mandamus 1- To quash the order of the tribunal

(b) Prohibition 2- To command a person to perform
his legal duty

3- Safeguarding against the
usurpation of public offices.

4- Forbidding the inferior court in

excess of its jurisdiction

(c) Certiorari

(d) Quo-Warranto

Code: A B C D
(@) 2 1 4 3
(b) 1 2 3 4
(© 2 4 1 3
(d) 4 3 1 2

2. qdted AT & IRMEREE] SR & Fee #
o= poEl § W P9 W PUT I B?

1. 9RT $1 Iegfa, Y & fedl oo a1 48e W
Hdied <RATTd | WREe of Fhdr 87

2. qdred <RI I8 o & forw qreyg g

3. 427 fAE™ e | Hdted <RI < T FAT8
Bl G Ieufe & fore aifeard a=r feam war 2

4. TG AT B A UgS @I ARl gd Al &
IR H ¥ Hated AT fooR &) AHhdr B |

SRIGT BT § F P AT/ DI A HAT A 8/ 87

2. Which of the following statements regarding the advisory
jurisdiction of the Supreme Court are correct?

1. The opinion o fhte Supreme Court may be sought by the
President on any question of law or fact.

2. In case the opinion of the Supreme Court is sought, it is
bound to give it.

3. The advice given by the Supreme Court on a matter referred
to it it is binding on the President since the 42" amendment.
4. Advisory jurisdiction of the Supreme Court can also be
exercised over disputes arising out of references made over pre-
constituional treaties.

(@ 1193

(b) 2vwds Select the correct answer from the codes given below:
(c) 11wda4 (@ land3 (b) 2and3

(d) 1,2 317d4 (© 1and 4 (d) 1,2,3and4.

3.. | @ g | 9 gafea ahifsrg den = Ry
Y FHel B Gl 9 Fel IR BT FI9 DIfo—

- | (3marT /=) wa— 1 (fawa)

(@) ~omEER A 1. BT a7t

(b) woter 3reft AN 2. Al BT WTER

IR TR favTorA

(C) PIPTBITADY AN 3. eI FER

(d) < afafa 4. B—RIoY T |
5. YR TR AdH

e A B C D

@ 2 5 3 4

(b) 4 2 1 5

© 2 4 1 3

d 3 1 2 5

3. Match List-I with List-11 and select the correct
answer using the codes given below:

List-1
(Commission/Committee)
A.Rajamannar Committee
B.Fazl Ali Commission

List-11
(Subject)
1. Backward classes
2. Linguistic division
of States
3. Administrative reforms
4. Centre-State Relations
5. Prevention of Corruption

C. Kaka Kalelkar
D. Santhanam Committee

Codes: A B C D
(@) 2 5 3 4
(b) 4 2 1 5
(©) 2 4 1 3
(d) 3 1 2 5

4. T ¥ 9 6 dell § W9e BT Ggdd ST gAr
ST 87

4. In which among the following cases, can the joint
session of both the Houses of Parliament by summoned?
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1. Afqem # HeRE
2. 919 U ¥ §RT UIRT I8 ¥R 9+ 4 B8 A8 4
Aferd THT db ifdd 2 |

3. 919 U faRrsd # By U FeneEi  SF 98 INTEAd

Bl |

4. 59 A1 fE® &1 T |9 UIRd $R & T I
He IR PR < |
I 3T 7Ty @ei &1 FErIdT A FE SR BT aIT BITI—

(a)
(©)

1,214 3
2 U9 3

(b) 2 3Tda4
(d) 1vd4

1. To amend the Consitution.

2. When a Bill has been pending with one House for
more than six months after it was passed by the other.
3. When both the Houses disagree on the amendments
to be made in a Bill.

4. When a bill is passed by one House and is rejected

by the other.

Select the correct answer from the codes given below:
(@) 1,2and 3 (b) 2,3and 4

(c) 2 and 3 only (d)1 and 4 only

5.9d | &1 g | 9 gafera Sifsie dor A fay
MY HEl Bl TSR A Tl SR BT AT DIToT—

5. Match List-1 with List-11 and select the correct

answer using the codes given below:

List-1 (Schedule) List-11(Content)

A.Third Schedule 1. Powers, authority,
responsibilities of the Municipalities

B.Seventh Schedule 2. Distribution of powers

between the union and the states
C.Ninth Schedule 3. Oaths and affirmations.
D.Twelth Schedule 4. Allocation of seats in the
council of states.

5. Land reform laws.
Codes: A B C D
(@) 3 2 5 1
(b) 5 1 3 4
(©) 3 1 5 4
(d) 5 2 3 1

- | (ergege) - 11 (fw)
(@) I Al 1. TRUMTBIST B wfdaT,
ISP R Td IR

(b) wad IFFA 2. = U9 Al @ 4/ Ao

(c) =7l arggn 3. 9UY U gl

(d) 9RES ggAT 4. IST[AT H HIST BT fEeA
5. —guR e

dc: A B C D

@ 3 2 5 1

(b) 5 1 3 4

© 3 1 5 4

d 5 2 3 1

6. fFr=faRaa & 9 o IwauTel gRT U &

feremrel gRferd &1 3@ Siar?

(2) S=a =T @ wfaddl S gEIfad dR aret

faerTe

(b) wwfq & =ifrard siftrreor & wwfd e
(C) IrR—TT AMUR WR gfaa=r &1 #ey arel faggs
(d) By ama W FRROE A FERIT R |

6. Which of the following is not reserved by the
Governor for the consideration of the President?

(a) Bills affecting powers of the High Courts

(b) Bills relating to compulsory acquisition of property.
(c) Bills seeking to impose restrictions on the inter-state
trade.

(d) Bills relating to imposition of taxes on agricultural
income.

7. ffeRad & & fooe AMel # Wated <ImRITera ¥ I8
forder fear o for Ho—<rg ar= W AT oRR

SrerdT &7
DA< IRAT DA (b) fomar &4

(@)

() TwHoIRO IS B

(d) sfexr wr=h &9

7. In which one of the following cases, the Supreme
Court gave verdict which has a direct bearing on the
Centre-State relations?

(a) Keshavananda Bharati case (b) Vishakha case
(c¢) S.R. Bommai case (d) Indira Sawhney case.

8 @ | & @ |l & gafea aifsig qen - fay
MY Hel & AT A el IR BT g4I DIfSI—

- | (Fmare)
! UTAR 1. fhdT afdd &l AR U

(@)
(b)

FHETT—olRg

- 11 (v

B BT QY
2. fH<dT A UTfereR &r

8. Match List-1 with List-11 and select the correct
answer using the codes given below:

List-1 (Writs) List-11 (Subject Matter)

A. Habease Corpus 1. A command to produce the
body in person.

B. Certiotari 2. A command to a public
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U I YRT BRA BT AT

() wERw 3. sl aafad & <1 o) derar
P ST EE BRIATS!

(d) geer 4. Tt frarer =amareryr srerar
=T BT AT AT H | BT A |

He . A B C D

@ 1 4 3 2

@ 4 1 3 2

(© 4 1 2 3

@ 1 4 2 3

authority to do its duty.

3. A proceeding to enquire into
the legality of a claim of a person.
D. Quo-Warranto 4. A directive to a lower court or

judicial body Not to exceed its limites

C. Mandamus

Codes: A B C D
@) 1 4 3 2
(b) 4 1 3 2
(©) 4 1 2 3
(d) 1 4 2 3

9. f=faRad oMl wR faaR ax—
1ﬁwaﬁmﬁﬂmmfﬁa§%®—c{2%zﬁ
3 Hatea =IRTed @l T 22 §RT Ua e
FEl Afde faRga 2|

2. ST AT U4 Fdied I, g4 &l Hifeld
AABR AT HRaA™ & FHI MRDR & |

SRIFT H & $IF F8l 8/ 87

(@ @ad 1 (b) @aa 2

() 13R2TH (dy adar1ada

9. Consider the following statements:

1. The powers of the High Court under Article 226 of
the Constituion of India are wider than those of
Supreme Court under Article 32 of the Constitution of
India.

2. Both High Court and Supreme Court have
concurrent power to enforce the fundamental rights.
Which of the statements given above is / are correct?
(@) Only 1 (b) Only2

(©) Both 1 and 2 (d)  Neither 1 nor 2

10. HIF—| I Ul R TR S § te eef=fie
gfshar 2 |

- de B e f deq b1 GfauE Seoed
AT SIANT Y (GHN) Wed Bl Wafid &1 Bal
2 Ol 39! Siadx IeUfd &l ™ &I Abhed of
HHAT 8— W B Hol T AT & II—fcI8ls Igad
gINT |

(@) =HI PUF TeIT—oTeT Hel § aAT Hd || Ho |
B AL AT R |

(b) =M1 B FTT—AT el & A B || P |
B AL AR L T |

() ®u7 | ¥ &, v |l 39y |

10. Statement-1: The impeachment of the President is
a quasi-Judicial procedure in Parliament.
Statement-11: Either House of Parliament has to prefer
a change of violation of the Constitution before the
other House which may investigate and resolve to
remove the President by not less than 2/3rd of the total
membership of the House.

Codes:

(a) Both the statements are individually true and
Statement Il is the correct explanation of Statement I.
(b) Both the statements are individually true and
Statement Il is not the correct explanation of Statement
l.

(c) Statement | is true but Statement 11 is false.

(d) Statement 1 is false but Statement 11 is true.

(d) | s €, e || ¥ |

11. fr=forRad Tre=Tsl &1 el BIelTgshiad eI
I 87

1. AICTY AFABIE FUR

2. Ui WA Dl YRasATd

3. ATei—fHel gur faere

A QU U el BT SUART PR FE! ISR DI aIT B—

@ 1-—2-3
(b) 2—3—1
(c) 3—2—1
(d) 3—1-2

11. What is the correct chronological sequence of the
following events?

1. Montagu- Chelmsford Reforms.

2. Inauguration of Provincial Autonomy.

3. Morley-Minto Reforms Bill.

Select the correct answer using the codes given below:

@  1-2-3
()  2-3-1
€  3-2-1
d) 312
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12. f=farRad dedl wR faar -
1. 918 YR &1 Gfd fafs w e wRa far T &
I7 g8 98 I & O R Alpadr o |7 e 8, IR
P Ifed fafr & 99 g BIs i SRy 81 & o
Fohc! o9 dd fob Uy iy fosdt fafsr erferfeem grr
1Y = & TS B |

2. g1 ®I AfamT fags srerar arfife fac fadas
BT AT 31T A HT PR BT JRHR A 2 |

3. IoIaYT I AT faaRor oR 3 989 &R Adhd!
2 olfh 399 1fdd §u -
IRIFT HUAT § F B T&T 2—

@ 1,2wws (b)
(c) @a@ 213 (d)

Bl 1 Td 2
Hdel 1 U9 3

12. Consider the following statements:

1. Whether the expenditure is charged on the
Consolidated Fund of India or it is an amount voted by
the Lok Sabha, no money can be issued out of the
Consolidated Fund of India unless the expenditure is
authorized by an Appropriation Act.

2. The Rajya Sabha has no power of amending or
rejecting the Appropriation Bill or the Annual Finance
Bill.

3. The Rajya Sabha has no further business with the
Annual Financial Statement beyond the general
discussion.

Which of the statements given above are correct?

(@) 1,2and 3 (b) Only 1 and 2

(©) Only 2 and 3 (d)Only 1 and 3.

13. fr=rferRad oMl R R $ifmg—

1. UTgbel= AT & 20 AW B & Sl dld 9T B
et wewl § 9 g4 9d € dA1 10 Weg ufcray
RIS & Hewdl o Raffad wewil § 9 g9 9§
2. UTaheld AMRT @ I8 Gea o J Big A1 781
Bl & e WU H Urader G¥e § ydd a1 S
Rifdh T8 AP FAeTer@l FRIFH Td uRlerdh B el o |
IWIFd 3 ¥ BIF Ael 2/ &7

(@ @ad 1 (b) @aa 2

(c) 13R23H (d) €198 2

13. Consider the following statements:

1. The Estimates Committee comprises 20 members
elected each year by the Lok Sabha from its elected
members and 10 members elected each year by the
Rajya Sabha from its elected members.

2. The Estimates Committee has no role in suggesting
the form in which the estimates shall be presented to
the Parliament as that is a function of the comptroller
and Audtitor-General of India.

Which of the statements given above is/ are correct?
(@) Only 1 (b) Only 2

(©) Both 1 and 2 (d) Neither 1 nor 2.

14. frfefed wemf W faR $ifvmg—

1. g qoI Ty feniyaren &l orgeadr & foy gve
eiRT &t &1 Fwad! AfreR 2|

2. Hag Aferd JRHRI B AN %A & forg foreh

TATIT bl Adi=d ~qTATeld bl fdd UG Dhx- Fra=ef)
P a1 Fadll B |

(@) W 1 (b) @aa 2
() 13R2TMAl d) agi1782

14. Consider the following statements:

1. Parliament and State legislatures have concurrent
power to make law prescribing punishment for
untouchability.

2. Parliament may make law empowering any court to
exercise powers of the Supreme Court to enforce the
fundamental rights.

Which of the statements given above is/ are correct?
(@) Only 1 (b) Only 2

(©) Both 1 and 2 (d) Neither 1 nor 2.

15. fFfoRad woml R faar sifsg—

faT SITART &7 TS+—

1. IKIfA gRT dwaid JEHvSA &I Aol IR fha
ST % |

2. GfqgT & 31T 280 & A (AT ST © |

3. 99 U4 Al & (Al Gl & Haqed & a¥id
g & ferg far <imar 2 |

4. ITZARA BT ARG & A= [ H 9 a1 &
IO & JAE[—ABRIAT & Y el RAgT=<il &l
IRETT &R gY RIBIRE Wo & forg |

15. Consider the following statements:

The Finance Commission is created:

1. By the President on the advice of the Union Cabinet.
2. Under Atrticle 280 of the Constitution of India.

3. To suggest ways and means to augment the financial
resources of the Union and the States.

4. To make recommendations to the President defining
the principles which should govern the grants-in-aid of
the revenues of the States out of the Consolidated Fund
of India.
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SWRIFT H F DI AT HIF el g
(@ 2 3vd4 (b) 1,2vwd3
(c) 1,3Td4 (d 1,2vd4

Which of these statements are correct?
@) 2,3and 4 (b) 1,2and3.
(©) 1,3and 4 (d 1,2andA4.

16. fF=faRad § & @19 Hg <ld JdT SN &
yHTIfead e GHRad FRar g7

1. 3eTey U9 Ao Afdee # 3feaiRad maRl R &
Ug ¥ B S Ahd 2 |

2. MANT & Wd wRT & dfd [ w yaRa siar 21
3. 31E¥el Ud Wl DI JAINGad & ULAd = AIB DI
HHR B BT AT & A 2

4. ATHAGH BF P AT el U SR devd wU A
PR PR |

I faU U Hel &1 ST B el IR BT IIT BR-
(@ 1vd2 (b) 2vwds

(c) 1,3ud4 (d) 2wEs

16. Which of the following ensure functional autonomy
of the UPSC?

1. The chairman and Members can be removed only on
the grounds given in the Constitution.

2. The expenditure of the Commission is a charge on
the Consolidated Fund of India.

3. The Members and Chairman are allowed to accept
jobs after retirement.

4. The Chairman and Members being civil servants
function in a neutral manner.

Select the correct answer from the codes given below:
@) 1and 2 (b) 2and3
(c) 1, 3and 4. (d) 2,3and4.

17. wrgufa, |fdg™ & sigees 370 (e S=id R
IR HER 5T BT AN oIl U &) & YA @l
=yor 9 & g R A &

1. TSI SRR

2. NS Bl AT

3. d=aIg HEMRYE B Hell®

4. ST IR PR 5T DI HALTH AT B AT
SWRIFT HAT H F B AT/ B A HIF I 8/ 87
(@) 1 7d 3w ® (b) baet 1 7d 2 AH &
(C)daa2vdsads (d) 1R 4TI

18. The power of the President of India to declare that
Article 370 (under which the state of J & K enjoys a
special status) shall cease to be operative, is subject to-
1. Public notification.

2. Recommendation of Parliament.

3. Advice of the Union Council of Ministers.

4. Recommendation of the Constituent Assembly of
J& K.

Select the correct answer Of these statements:

(@) 1 and 3 are correct (b) 1 and 2 are correct
(c) 2 and 4 are correct. (d) 1 and 4 are correct.

18. ¥ gRT 719 fIwdl R 991 TR S ANTevS 4
T T& TMTET 21 81 Fdd, o Iog d IR 9T U
fofg 9 w3 fawg &

1. AR &1 ARG U4 onfie gy

2. AR wfeora fafer ik ufoear

3. fifadt &Rk <iffs® = wems, Siei fafveag rm
wiewra Ay & IgIR B 2|

4. A SR Frfcd sidl &1 w@iA@ SiR IfaRoT |
SRIFT ST H F DI AT/ B A B9 I 2/ 87
(@ 2vds (b) 1vd2

() 1.23Td4 (d s3Tda

18. The Acts of Parliament relating to the following

matters would not apply to Nagaland unless the State
Legislative Assembly so decides:

1. Religious or social practices of the Nagas.

2. Naga customary law and procedure.

3. Administration of civil and criminal justice involving
decisions according to Naga customary law.

4. Ownership and transfer of land and its resources.

Which of the statements given above is/ are correct?
(@) 2and 3 (b) 1 and 2
(©) 1,2,3and 4 (d) 3and 4

19. Wl & 91T 21 § SRR, AHAVBRT TG a9y
Suye= = # ¥ fea gt 9 awfia 8-

1. 917 3R HeIR

2. ANTTAvS

3. AT

4. RIS TSI

19. The tempoirary, transitional and special provisions
mentioned in Part-XXI of the Constitution of India
relate to which State (s)?

1. Jammu & Kashmir

2. Nagaland

3. Assam

4. Andhra Pradesh.
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SIRIFT BT H F B AT/ B A HIF I 2/ 87
(@ a1 (b) 3Tda4
(c) 1,2vds (d 1,231d4

Select the correct answer from the codes given below:
(@) Only 1 (b) 3and4
(c) 1,2and 3 (d) 1,2, 3andA4.

20.99— | &1 gA@i- |l & gafera g e = fag 1y
Hel BT TSI W FEl IR Bl I DITTg—

T | T I

) (e yraeme ¥ W eTgeR)

(@ e 1. AT 371—21

(b) fASIRA 2. 3T 371—d1

(c) o 3. 3TITIE 371308

(d) oy ysw 4. BT 371-T4
5. 3TST 371l

& A B C D

@ 3 5 2 1

) 5 3 4 2

€ 5 4 3 1

(dy 3 5 1 2

20. Match List-1 with List-11 and select the correct
answer using the codes given below:

List-1 List-11

(States) (Special Provision Contained In)

A. Goa 1. Article-371-D

B Mizoram 2. Article-371-B

C. Assam 3. Article-371-I

D Andhra Pradesh 4. Article-371-H
5. Article-371-G

Codes: A B C D

(@) 3 5 2 1

(b) 5 3 4 2

(©) 5 4 3 1

(d) 3 5 1 2

21. U O 42 § Ui & HAfigd gqg Mieeaiad &=
=T f2eaT 87
() AT SO AT T=AT

(c) T=AY, WIS, ¥ ggeata

(b) Fae JEAT T HITT
(d) ST, TAT 3T 1A

21. Which of the following groups of planets in our
solar system are part of the Goldilocks Zone?

(@) Venus and Earth only (b) Earth and Mars only

(c) Earth, Mars and Jupiter  (d)Venus, Earth and Mars

22. QAT & AT E & & a1 § Fafortad & F #9 90/4
FAT Tl Ble?

(a) HTLITA®HT TATA G2t % Heo oY A & o= & JrAT
FATAT Bl

(b) TxerHES §¥HT (Magma) &1 I&T &1q &, ST SsarTarqar
frewTe ¥ forT saeEts 2

(c) AT T XA &, AT ATATF FHIT S g

= 3T 7T gz T TN X qEl 3 A
(a) Fae 1 37 2 (b) ¥ 3
(c) T 1 0T 3 (d) 1,2 4% 3

22. Which of the following statements is/are correct
regarding the interior structure of the Earth?

1. Moho’s discontinuity forms the boundary between
the mantle and the core of the Earth.

2. Lithosphere is the main source of magma that erupts
to form a volcano.

3. The outer core is liquid, while the inner core is solid
in state.

Select the Correct answer using the codes given below :
(@ Only 1and 2 (b) Only 3
(c) Only 1and 3 (d1,2and 3

23. 99T U9q % I § Auferfag & ¥ @9 9ua w99 985t
2E?
1. 9 I g2dT § Y dqad T d grar g af ger 94d

1 At grar 21
2. 35 TU T AT G G HI T5I9 FHgl SIrarv g
3. AT ® smEe! wgq AT At qEE AT 99 969q

Tt § F U gl

Fr=r faT T Fe T TART F AL 39T AT

(a) Fa 1 (b) &< 1 3T 2
(c) Fa 2 3T 3 (d) ST T+Y

23. Which of the following statements is/ are correct
regarding block mountains?

1. Block Mountains form when landforms break and
displace vertically.

2. The uplifted blocks are termed graben.

3. The Aravalli range in India is one of the oldest block
mountain systems in the world.

Select the correct answer using the codes given below:
(@) lonly (b) 1and 2

(c)2and 3 (d) All of these
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24. Sz A9 A=er q9arT /29 § 9gd e ¥ 3SAT 2
I FrdiERTor FAT BT qRAT 82

1. et & g2 & arar = & o [eer qwa
= | S 918 A5l &l

2. M= A9ATT "=d # FE Hagq gTu (Convection

Currents) &1 81

ST FAFT H  FIA-A1/E T 2272

(a) FaT 1 (b) Fae 2

(c) 13 2 T=T (d) AT AT 1, ATET 2

24. The jet aircraft fly very easily and smoothly in the
lower stratosphere. What could be the appropriate
explanation?

1. There are no clouds in the lower stratosphere to
obstruct vision of the pilots.

2. There are no convection currents in the lower

stratosphere.

Which of the statements given above is/ are correct?
(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

25. FHATI-TET % faavor & "9y § et fam o
IEEIEETS
1. gfEt % I, ITL AT |, THATT-LET HETarar

U ST Y@ il qTF gl gl
2. 3T MATE ¥, Ffadt it qaqr § T § o &
TEUTAT AT ZIAT 2l

ST FAFT | FIE-A1/H TGl 8272
(a) FaT 1 (b) FaeT 2
(c) 1 3T 2 Tr=T (d) AT AT 1, AT ET 2

25. Consider the following statements regarding the
distribution and pattern of isotherms:

1. During winters, in the northern hemisphere,
isotherms bend sharply equator-wards over the
continents.

2. In the northern hemisphere, temperature gradients
are greater in summer than in winter.

Which of the statements given above is/ are correct?

(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

26. AT TAd JE@AT ® Gvad H FAfffed o @
BRIy

1. FTFAT TIT FGAT AT § qaH AT G GUE 94T 2
2. ST | o % e qaw SHT A6 8

3. Eel qaq #i IuRAfa AT TereaE A SAary
fearfaat &t fRetfa #<dt 21

4, AT AT FGAT FF AT T2 TRl Bl

Consider the following statements about Aravilli range:
1. The Aravalli range is the oldest block mountains in
India.

2. The highest peak is Guru Shikhar in Rajasthan.

3. The presence of Aravalli range determines the
climatic conditions of eastern Rajasthan.

4. The Aravalli range is rising in height.

S B T e § A w382 Which of the statements given above is/are correct?

(a) 1807 2 (b) &< 2 (@) Land 2 (b) 2 only

(©) 2, 3 &7 4 () 12473 (¢c)2,3and4 (d)1,2and3

27. ISFHCALNT FHATa | JST AT Ferware F are # | 27. Consider the following statements regarding the
rforfea Fuet o= = 332 general characteristics associated with tropical

1. IUHTCH T THATT HGTHLT T Agd FH AT 6 &1 A
FEd g AT I I A 9 1 2l

2. T F9 ¥ A9 srafer (e =9 7 THT) TF AT g A7
AHATT 9T IF | IFHH H A1 8

I 30 0 AT H " A AU G2y 28 ?

(a) 3 1 (b) &< 2

(c) 1 3% 2 T (d)Tar 1w 2

cyclones?

1. Tropical cyclones move with very low velocity over
the oceans but become strong on landmass.

2. They are confined to a particular period of the year
(mainly summer) and normally move from east to west.
Which of the statements given above is/ are correct?

(@) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

28. FTHT TUT dTEAt % F1eor, fasret & are o Afvataa
FAAT 9¥ A= F
1. ToTAT aul aTadl & &= A7 997 d1ed T g4 &

= T agT 1 27 2

28. Consider the following statements regarding
lightning that results on account of cumulonimbus
clouds:
1. Lightning is the form of visible electric discharge
between rain clouds or between a rain cloud and the
Earth.
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2. S I ATEAT AT d1EA AT QAT % A= G=a awar
(electric potential) TaTH 3IF Te¥ dF TgH ATl &, dql
ZAT AT BT & ST TR &2, &St Fghal 2l

2. When the electrical potential between two clouds or
between a cloud and the Earth reaches a sufficiently
high value, the air becomes ionized and lightning flash
results.

S f3U T FAAT § F 1 AU q_ 22 Which of the statements given above is/ are correct?

(a) et 1 (b) et 2 a) 1 only (b) 2 only

(0) 1 9 2 2t (@) T FrTE 2 c) Both 1 and 2 (d) Neither 1 nor 2

29. WEETRHIT g7l & €89 ¥, 29. With reference to ocean currents, consider the
Aaferfed Foet o e w following statements:

1. T AETERTOT 9TI0 HH FeATIT 9T Icq gl g Y
IF AT U IAS BT g AT IF AeTer il TF a2l ¢
2. ot AgMTRIT 910 IF AT 9T 30+ Bl g 3%
FH SeTer Y T TRl 2

3. 3T &A1 § Sl TH ¥ 3T gm0 Wedt g, Fwgr
BTAT 2T &

S U T FAAT | H A G/ qET 882

(@) 1,243 (b) Faer 1 =7 2
(c) FaeT 1 3T 3 (d) Fa1 3

1. Warm ocean currents originate at lower latitudes
and move towards higher latitudes.

2. Cold ocean currents originate at higher latitudes
and move towards lower latitudes.

3. The areas where a warm and a cold current meet
experience foggy weather conditions.

Which of the statements given above is/are correct?
(@ 1,2and 3 (b) 1 and 2 only

(c) 1and 3 only (d) 3 only

30. Rfaferfea Faet o = fifvm:
1. AL 3% FA¥ AT 300 F 350 IT¥ 3T Sfer0r Teqyer

% fAEeme <1 weadl § 7 TAF g9 TAT9 FEATaT 2l
2. g reAter f9 arag wfeaer )

ST FAAT H F FIF-A1/E qL7 8/287?
(a) F= 1 (b) Faet 2
(c) 1 3T 2 T (d)Far 1w T2

30. Consider the following statements:

1. Either of the two belts over the oceans at about 30°
to 35° N and S latitudes is known as horse latitude.

2. Horse latitudes are low-presssurre belts.

Which of the statements given above is/are correct?

(@) 1only (b) 2 only
(c) Both1and 2 (d) Neither 1 nor 2

31. Mefefaa & 9 & o 92 7o S aTe aeeata
# =oft 1 wfafafaca 7efgg (Xerophytes) F3d gl

(a) SSUTERTCEETT g HT STAATY
(b) 3% & gH TAATY
(c) AL-SIoF =T & HaTd (d) T8

31. Xerophytes represent the class of vegetation found
in -

(@) Tropical rain forest

(b) Humid micro-thermal climate

(c) Semi-aird steppes

(d) Tundra region

32. . fAferfaa Faat 9 = 1

1. T & WETG I & AT AT 7 45 =37 3w 65 =3t srervar
F e foa 8

2. FTFYA T3 % HILOT AT It Bl

3. T &A1 % AE-TTH Heea ol Aot T % Hald gl
SUT AT & | 38 T & Saarg w1 Aq9d AT Sran
22

(a) ATLIT-TET T TAarg  (b) T TFE AT TAaTY
(c) SoTEfeaefi 77 STeraTy (d) ATEARATE YHE At STerarg

32. Consider the following statements:

1. The region is confined to 45* and 65* latitude in the
eastern margin of continents.

2. The rainfall in on account of monsoon winds.

3. Important fishing grounds adjoin these regions.
Which of the following types of Climate is experienced
by the regions mentioned above?

(a) Laurentian-type climate

(b) Polar-type climate

(c) Tropical wet climate

(d) Siberian-type climate

33. fRferfea Foet o =
1. T TN TS ST 2137 9F &, § Haherd? 2|

33. Consider the following statements:
1. Originattes from diamond-rich Katanga Plateau.
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2. a‘rﬁa'zn Srarea i ANTEaE & A= ITEHaE
TSR EHT a4TdT 2|

3. T I¥ AT SayaTa o 2

IYLITH FHAFT § o T o a1 | a7 iF ST @ 8

2. Natural political boundary between Zambia,
Zimbabwe, and Mozambique.

3. Victoria Falls is located on it.

The river being talked about in the above statements is

(a) Orinoco river (b) Zambezi river

@ ™ (b) SR =Y (c) Limpopo river (d) Zaire river

(c) ferearaT <t CEGE

34, Aot =1 fee w% 34. . Match the following:

1. SraTees SeEta a. TAF AT ot _ _ o
. . N . 1. Strait of Gibraltar a. Yemen and Djibouti

2. T Ty b. HIH #7a SFHITT A ETT | 5 \Magellan Strait b. UAE and Iran

3. FITHST STAHTer c. Freror srefaT 3. Strait of Hormuz c. South America

4 AT HT T 0. T A 4. Strait of Babel Mandeb  d. Europe and Africa

(@) 1-a, 2-c, 3-b, 4d
(b) 1-d, 2-b, 3-c, 4-a
(c) 1-d, 2-c, 3-b, 4-a
(d) 1-a, 2-b, 3-c, 4-d

(@) 1-a, 2-c, 3-b, 4-d
(b) 1-d, 2-b, 3-c, 4-a
(c) 1-d, 2-c, 3-b, 4-a
(d) 1-a, 2-b, 3-c, 4-d

35, Ffgw e ga 8
(a) =4, TUTA, ST ¥ TF2 St &

(b) STETH, T9TH, TFEIH ST 3T STEH &
(c) ==, AuTer, IfSrw S Ter 7 Sy o
(d) =9, qeTe, ITRT ST 37 STEH o

35. . The state of Sikkim is surrounded by

(@) China, Nepal, Bhutan and West Bengal

(b) Bhutan, Nepal, West Bengal, and Assam
(c) China, Nepal, West Bengal, And Assam
(d) China, Bhutan, West Bengal, and Assam

36. Rforera § & #A-97 %99 92l 787 5?2

(@) FLOTEAT T4 HATAT F AFercdt g T amaraer &
Tl 2l

(b) TTaTHEA TE ToeaE ¥ AEwerdt g osiv wara i
GTET | T 2|

(c) =meRT Tt foeaa & et 8 3fiT 99T 7 o g0
TR | T FLAT g

(d) T\ =T FHHIT T et g oiie fe-asrer gaaqarar
& HTEAH & qTheaTe § TaeT Fdl gl

36. Which one of the following statements is not
correct?

(@) River Karanphuli originates in Meghalaya and
flows into Bangladesh.

(b) River Sabarmati originates in Rajasthan and flows
into the Gulf of Khambhat.

(c) River Ghaghara originates in Tibett and enters India
through Nepal.

(d) River Jhhelum originates in Kashmir and enters
Pakistan through the Pir panjal range.

37. 9T AT AeXr3e garat & a7 Fufafea § 9 #149-
H FAT Tl 82

1. I FTYTIOE: AT W7 %00 gral gl

2. I TSI 3T TIeTeT & 93 grdl gl

3. AT TSTEAT ST I 9T § =7 Toame gatr 2

4. = Tafei § ST i s A =6l IT gradl 2

= [aT T %oz T TN FT Tal I A0
(@) 1,23%3 (b) 2, 3 T 4
(c) 17 4 (d) ¥a 2 =7 3

37 . Which of the following statements regarding
leterite soils of India are correct?

1. They are generally red in colour.

2. They are rich in nitrogen and potash.

3. They are well-developed in Rajasthan and Uttar
Pradesh.

4. Tapica and cashew nuts grow well on these soils.
Select the answer using the codes given below:
(@l1,2and 3 (b) 2,3 and 4

(c)land 4 (d) 2 and 3 only
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38. fefertera swuet ux A= ¢

1 \gA FuT % wag $iT srater feor F 397 i @ g
%Ry T =< ATl 2

2. ZRAOT —qT20e HIAEA & YTH quT %7 {Saor eq«rpid §
fratha gar 21

3. FLHSA qe, ATATATL a< & FH FUT ITH FLdT 2l

T U T FA4T H F F9-97/° ol /872

(a) 13f7 2 (b) 2 3T 3

(c) 13 (d) 1,233

38. Consider the following statements:

1. The duration of the monsoon rainy season decreases
from south to north and from east to west.

2. The distribution on rainfall received from south-west
monsoon is determined by the relief.

3. The Coromandel coast receives less rainfall than that
received by Malabar coast.

Which of the statements given above are correct?

(@ land?2 (b) 2and 3

(c) Land 3 (d) 1,2and 3

39. af2rft ferefrsr 3 s § AforfeT Fuat = w1
1. I T g | 977 I AT ATIeuEw{ea e (extra-
tropical) THI &1

2. T AT IUHEIET & 3a¢ qrardr Bear # s=m®
afdat £t arfer i o @ g1

3. I TET TaHT gT HATTd I-ATAGA a9t JTaeT 2|

4. 3T 9T H g% w5 & fFwre F oo afard e
R 2

39. Consider the following statements about Western
Disturbances:

1. These are the extra-tropical storms originating in the
Meditterrrancean Sea.

2. These bring sudden winter rain and snow to the
north-western parts of the Indian subcontinent.

3. These are non-monsoonal precipitation patten driven
by the Easterlies.

4. Western Disturbances are important to the

ST R T et § Ay a2 2 development of the Kharif crop in North India.
Which of the statements given above are correct?

(a) 1407 2 (b) 2 3 (3) 1and 2 (b) 2 and 3

(c) 1,233 (d) 1,247 4 (c)1,2and 3 (d) 1, 2 and 4

40. a7 T F Aeed W, Fwfefaa wu=t 9w 8= | 40. with reference to river Teesta, consider the

Frforo- following statements:

1. deaT 94 FT SEH qGl § SN FGIT A g, AT A
frfam & gree T 2

2. e T it Ieaf<r AfEs § St 8, 3w 7 frear 941 i
T HETAH T 2

3. drEaT e, A ud arereer i fiAr a7 @ i arst
H o7 et 21

1. The sourece of river Teesta is the same as that of
Brahmaputra, but it Flows throught Sikkim.

2. River Rangeeet originates in Sikkim and it is a
tributary of river Teesta.

3. River Teesta Flows into Bay of Bengal on the border
of India and Bangladesh.

ST FAAT F A A T 2R Which of the statements given above is/are coorect?
(&) 3 1 973 (b) 3T 2 (@) 1and 3 only (b) 2 only
(©) ¥ 2% 3 @ 12343 (c) 2and 3 only (d) 1,2 and 3
41. =% ¥ Ferr et 1930 § 7w F avsw x forg | 41 Who of the following organized a march on the
Y 7 T e s SR B AT Tanjore coast to break the Salt Law in April 1930?

a > A (@) V.O. Chidambaram Pillai  (b) C. Rajagopalachari
8 ;ﬁ'aﬁ' et ((3 ;‘; Yo (c) K. Kamaraj (d) Annie Besant

42, TTH H Tohe FOUT T4 I TgIaF A&l 6 F(equ(l e
¥ Tk 74 AL F TITIAT T 3 I <9dT oF A=y
T H FUA T T TS T ATEA HL T 13 forar
SrEh aTe & AT ST A7 o6 Feor T4 7 gferr fi aweq

9 39 3T A
OEECIEELREE (b) FewT AT
(c) EhETyawm (d) saTTeg BT

42. Who of the following founded a new city on the
south bank of a tributuary to river Krishna and
undertook to rule his new kingdom as the agent of a
deity to whom all the land south of the river Krishna
was supposed to belong?

(a) Amoghavarsha | (b) Ballala Il

(c) Harihara | (d) Prataparudrra Il
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43. Ataforfaa Faei 9 fF=m i
1. AT T FUE Al TR AIGAT Teqe] qUSH T 19g
off|

2. ATIATT AL FIUE 6 TIH AT e Taeaid a2ad
ST o

ST FAAT H | HA-G1/H qBT 8/8?
(a) =< 1 (b) &= 2
(©)1 3% 2 Tt (dTaT1ATTE2

43. Consider the following statements:

1. The first woman President of the Indian National
Congress was Saroojini Naidu.

2. The First Muslim Pesident of the Indiant National
Congress was Bdruddin Tyabji.

Which of the statements given above is/are correct?
(@) L only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

44 Ffeqe faq F geast °, et § 9 f9-a0a Fa=

R TEA
1. TH UF HET g7 forw fRwrfyer

2. U AT =Tt v oAt F1 fFear Em

3. Ta9 ICS ¥ 37 srfersw sireei= = forw saeeer famam

44 .with reference to the cabinet Mission, which of
the following statements is/are correct?

1. It recommended a federal government.

2. It enlarged the powers of the Indian courts.

3. It provided for more Indians in the ICS.

Select the correct answer using the code given

= 3T 7T Fie T TIANT T Tl 39 g below.
(2) e 1 (b) 2473 (a) L only (b) 2and 3
(c) 143 (d) #7< T (c) 1and 3 (d) None

45, ST & FAT 3 [Iad sfag™ & a7a+ |,
Fraferfem & & fr v 1 ga wger At G = ar?
(a) spE=raw feora o wfvax

(b) &=t R Srershar gTeft

(c) weTatereH fRra detsha TaTea

(d) SR Raa awrg qfT

45. With reference to the art and archaceological
history of India, which one among the following was
made earliest?

(a) Lingaraja Temple at Bhudaneswar

(b) Rock-cut Elephant at Dhauli

(c) Rock-cut Monuments at Mahabalippuram.

(d) Varaha image at udayadiri

46. fer=faRad § 9 fhd 3m=iad & BRI RO

TR B BT favToT 83 oga aRvmiReaey R4
T’ 3R TRH T BT IgHT gINT?
(@) e srre (b) T BISr A=A

(c) orgea sr<ie  (d) Afd= 3rasm Tl

46. . Which one of the following movements has
contributed to a split in the Indian National Congress
resulting in the emergence of ‘moderates’ and
‘extremists’?

(a) Swadeshi Movement (b)Quit India Movement
(c) Non-cooperation Movement

(d) Civil Disobedience Movement.

47. 374 A D R A= ol arow IR A8 T &R
HRd § & 99 Tar?

(@) gome axara (b) =

() TR (d) affx

47. Who among the following Eurpean travelers never
returned to Europe and settled down in India?

(@) Duare Barbosa (b) Manucci

(©) Travernier (d) Bernier

48. SR ¥ 3R Al &1 9 f=ferlRaa # 9
foraT A ga™ dRar 87

(@) vifa @1 gRaar  (b) IR s ife (Rifder) wvemd
(c) X gu™ (d) <=1 FHIsR

48. The class of Amar Nayakas in Vijayanagara is a reference
to which of the following?

(@) Village Chieftains

(b) Senior Civil Servants

(c) Tributary Chiefs

(d) Military Commanders.

49. JHER B ATHATDBIA & (7Y Yeb Aol Ald
TRIG—U—3THaR! R ¥9Te 349 fag™i # 9 fhas
g1 foredt T ofi?
(@) oR® HeeEr

() orga IR FTar

CRINEACDIG

feroTgedl argHe

(b)
(d)

49. The important source for Akbar’s reign, Tarikh-i-Akbari
was written by which one of the following Persian language
scholars?

€) Arif Qandahari

(b) Bayazid Bayat

(c) Abdul Qadir Badauni

(d) Nizamuddin Ahmad
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50. gzb_\‘@[ G, U Afeld a@fdd, fbd girel qare &
e forgars orm?

(@) PR (b) <ERR

(c) wouRmrR (d) e smem

50. The aristocrate Mugarrab Khan was a great favourite of
which Mughal Emperor?

@) Akbar

(b) Jahangir

(c) Farrukhsiyar

(d) Shah Alam

51. 1841 IATST # 319y BT I USAT AdTd doilR bl
o7

(@) arg AheIrS (b) ~TaTe srdTEd Sfel WM
(c) a9 gor—Sg—<renm  (d) a9 \aAEd W

51. Who was the first Nawab Wazir of Awadth in the 18th
century?

@) Nawab Safdarjung

(b) Nawab Saadat Ali Khan

(© Nawab Shuja-ud-Daula

(d) Nawab Saadat Khan

52. B A CRIIR & AR 1741 TdTeal &

SR IR # SR qbH / fad 917 o 9°?
(@) %R Tw (@) (b) R IR B ()
(c) 18 &R TeR (d) sc iR ger|

52. According to the French traveler Tavernier, the majority of
houses in Varanasi during the 17th century were made of-

@) brick and mud

(b) stone and thatch

(© wood and stone

(d) brick and stone.

53. 1941 9T H 9RT § IR ST fhad WYg 991
ofT?

(@) < d (b) <= g5
(c) i wigA d) <ae s

53. The growing in India in the 19th century was made possible
by-

€) Josephy Banks

(b) James Cook

(c) Robert Fortune

(d) Robert Owen

54, gama=s 99 7 FefelRed # 9 e <o A
rore fwe e g fHar?

54. Subhash Chandra Bose started the ‘Azad Hind Radio’ in
which of the following countries?

(a) Japan_

(@ <= (b) emfRgar (b)  Austria
SR (c) Germany
(c) o (d) (d  Malaysia.

55. f&¥ ISHIRT & 7 6 S[A, 1946 BT bfdc R

AT DI SNTAIRG w0 H WHR B forar, a1 |4uyg
OISR BT AT B JRATBR BR foar ofr?

(@) fa=g werawm (b) @i
(c) gRerm < d) Ffrfee T

55. Which political party formally accepted the Cabinet
Mission Plan on 6th June, 1946, which hhad rejected the
demand for a sovereign Pakistan?

(@) The Hindu Mahasabha

(b) The Congress

(c) The Muslim League

(d) The Unionist Party

56. 3Rad R fham 41, f9a! do@ fasraarsT

(1944) ¥ g8, &1 Faifaa s o9 on?
(@) wEoHe |xE) (b) fodrar W
(c) er=gd Vg ycaeA (d) ==<a

56. . The elected President of the All India Kisan Sabha, which
met in Vijaywada (1944) was-

(@) Sahajananda Saraswati

(b) Vinoba Bhave

(c) Achyut Rao Patwardhan

(d) Narendra Dev.

57. AT TE A= & 52 Aeforid searsti 7%
o= Y 8T 1= R0 0 e & =T F 95l FATHEE
T AT TIT AT

1. S o & e

2. U AfAfaaw F w9 § Tore fore &7 9 gEm

3. STTCETaTaT aRT A7HgT

4, T T FH F ST ATera9, 1919

Fe
@).2,3,4,1 (). 4,3,2,1
(©).3,4,2,1 (d). 1,2, 3, 4

57. Consider the Following events connected with
Indiuan National movement and find the correct
chronological order of the event from the codes given
below:

1. Demise of B.G. Tilak

2. Passing of Rowlatt Bill as an Act.

3. Jallianwala Bagh Massacre

4. Amritsal Session of Indian National Congress, 1919.
Code.

(@.2,3,4,1 (b). 2,1
(©).3,4,2,1 (d).1,23,4
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58. ST & (AATSI % THF, ST T ATHEAES Ta4L 9T
(a). AT TSI Wsie (b). T=. T, =t
OREUEED (d) WA TR

58. The Lieutenant Governor of Bengal at the time of
Partition of Bengal was

(a). Sir Andrews Fraser (b). H.H. Risley
(c). Brodrick (d). A.T. Arundel

59. 1306 A.D F 9T AATSEIT [Fersil & g9 | fSoell F

59. What is the boumdary between the Delhi Sultan and
Mongols during the period of Alauddin Khilji after 1306 A.D.?

Hed T AT /AT o6 S ST 77 off ? (a). Beas

@ ] (b) (c). Indus

(c) g (d) wTst (d). Sutlaj

60. 3o F BT ATRaT- S-Sty ¥ ITf wa e 60.To whom Aurangzeb bestowed upon the title of © Sahibat-
o ' uz-Zamani’?

(a) ArTIEdT T OECISECIE] (a) Shaisata Khan (b) Amin Khan

CERE (d) X9 T (c) Jahan Ara (d) Roshan Ara

61. 5 & & #1 g & g ¥ Aearat # fRewr a8 22 61. Which of the following is not a part of the institutions of

the World Bank Group?
(a) ADB (b) IFC (a) ADB (b) IFC
(c) ICSID (d) IDA (c) ICSID (d) IDA

62. 51 & & FI-a1/" T % fAfAmior fifa F aw § a7 g2
|, F9TT 7 =9 4 FaaT, 2011 FT sAte=a HFar v
1. Z&eRT &= 2020 T SHE T § fAfawior &= F Trar v

62. Which of the following statements is / are true
about the new manufacturing policy?

I. It was notified by the government on November 4,
2011

30 9T FAT 2 I1. It aims to reduce the contribution of the
. TN S WM S manufacturing sector to 30 percent of GDP by 2020.
i @afmﬁ 100 o FEATE I11. 100 million jobs are to be created in a decade.
TH & The options are:
(2) e 1, 1l (b) %=t 1L (@) only I, Il (b) Only 11,11
(c) &= 11 (d) ST 7+ (c) only I, 1l (d). All of the above
63. HfraT ¥ B o= § afe i ard Far T 2 63.In which article of the Constitution is the budget
spoken?
(a) A== 280 (b) == 110 (a) Article 280 (b) Article 110
(c) s === 360 (d) s g==E 112 (c) Article 360 (d) Article 112

64. a5 2019-20 & FTHT T @ i TaH T=T T FI A1 8?2

(a) 0T STETIRT (b) T =T
CEERPIELIERIED)
(d) T2 TF gt § ST HT REET

64. Which is the biggest expenditure item of
government in budget 2019-20?

(a) debt repayment (b) Defense expenditure
(c) expenditure on central schemes

(d) States' share in taxes and duties

65. . % § & FI9 A7 F97 Tar 872

(a) TSI ATATAT | TS T Tl TFhel AL 3L & 3.4%
T TEe & Fe Raiia G = 8.

(b) TISTHRTT ATE T Fehed T ITITE % 3.1% T el FT
e T AT &,

(C) FSTe ATATAL | STATHF =TS T TFhed AL IS &
2.1% T Tl T A&T T@T AT 2.

(d) ST T FAF TAA B,

65. Which of the following statements is correct?
(a) The budget estimates set a target of keeping the
revenue deficit at 3.4% of GDP.

(b) A target has been set to curb the fiscal deficit to
3.1% of GDP.

(c) The budget estimates set a target to contain the
primary deficit by 2.1% of GDP.

(d) All the above statements are false.
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66. ar&zmsﬁ%w%mgﬂmﬁwwm
STTAT 9T?

66. How much Cess was imposed by the central
government in the year 2018?

(@) 4% (b) 3.5%
(a) 4% (b) 3.5% (c) 3% (d) 0.5%
(c) 3% (d) 0.5%
; 67. What is the base year for calculating national income in
67. ATLT H TR A1 T 0T 2 o o1 sireme a9 I dian
F7 87 () 2004-05
(b) 2009-10
(a) 2004-05 (b) 2009-10 (c) 2014-15
(c) 2014-15 (d) 2011-12 (d) 2011-12

68. S=ITRIE IcATad gaFiF § (=9 | | e o &7
STt TR aTed Trare orfere 22

68. Which of the following sectors has the highest arithmetic
weighted mean in the Index of Industrial Production?

(a) steel

(b) Refinery Products

(a) @?’r (b) l SAES! E' ‘“ S |E\F| (C) coal
(c) FrIAT (d) Fdz (d) Cement
69. forer & & F1 =T sm=ew wRT § WP amenfia 57 69. Which of the following items is the major reason for WPI-
' based high inflation in India?
HETERITT & ForT S #1207 872 (a) Primary goods
& . . Srereh (b) fuel and electricity
() = A (b) T (c) Manufacturing Products
(c) fafemfor SeuTe (d) SUE H & IS AR (d) None of the above

70. T&H, T AT HEAT IAHT T 745 TILATIT % ATATY,
ffRwTor &1 3 3= 7 U o SO T ST, i e
(a) ATTTF FEETE 5 FE T T FH

(b) AT FRIET 75 FAE TG ¥ 250 FIUE &I F S
(%C)ET%WSWE@WBW@%@H%
(d) ATt FETE 10 FE T ¥ 50 FE FIT F 9 ¢

70 . According to the new definition of micro, small
and medium enterprises, a manufacturing enterprise
will be called a small enterprise if its... ..

(@) Annual turnover is less than Rs. 5 crores

(b) Annual turnover is between Rs 75 crore and Rs 250
crore

(c) Annual turnover is between Rs 5 crore and Rs 75 crore
(d) Annual turnover is between Rs 10 crore and Rs 50
crore

71. . AT s d utreme Rftede g F A d
FaferfeT & & w9 a1 Foe 795t 272

(a) fSrert it ufeaverder TFERT 10 ATIE=T 9% samfia 8
(b) sTeRteft ftt 3 o weeft Seer ¥ S 2018 & 9
EARERII

(c) TETHHT T¥g Wil FT 5 AT, 2016 T THRgLema
Rfteae 7ga = it T ofF

(d) 392k At FoT 97 8

71. Which of the following statements about NITI
Aayog's Aspirational District initiative is correct?
(a) Aspirational ranking of districts is based on 10
criteria

(b) The first delta ranking for aspiring districts was
released in June 2018.

(c) Aspirational District initiative was launched by
Prime Minister Narendra Modi on 5 January 2016
(d) All the above statements are true

72. a5 2017-18 F SATHTE ALK FT (oA T FT AT
T aed #F T R AT |
(a). SRT >R 2 >TAT FX

72. According to the budget 2017-18, the tax share of
the government is in decreasing order.

(@). Income Tax> Corporation Tax> Service Tax

(b). Income Tax> Corporation Tax> Excise Tax

(c). Corporation Tax> Income Tax> Excise Tax

(d). Corporation Tax> Excise Tax> Income Tax
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73. Foforfad ® & & 471 difas® A H7 oS

ITHL 7
[a] 5% &% [b] ST it =T 7 gt
[c] ®fZe TrarfHT CIENRSEEREIE

73. Which among the following is a qualitative tool of
monetary policy?

[a] Bank Rate

[b] Credit Ceiling

[c] Credit rationing

[d] Cash Reserve Ratio

74, FafefET & 9 F19 7o ®9 F J @rar 2?2

a) SAFHTS: ATITH HIRT 6 FILOT el THT T FAAT AT BT
24U U SR

b) HaT: THT FT UF BT AT § AT A< Ieqrad / FHerer
T et

c) TRTFerer: Feet et  reor et wiafafaat £
et i

d) 5 srtye wrfafafer & asff & i =raewr asft

74. Which of the following is wrongly matched?

(a) Depression: Insufficient demand causing large
scale unemployment of men and machinery over a long
period of time
(b) Recession: Reduction in demand and production/
investment over a short period of time
(c) Stagflation: slow pace of economic activity due to
falling prices
(d) Boom: Rapid and all-round spurt in economic
activity

75. AT H TEME AT AT ATAT Foheeh g1 a3 3

75. Estimates of national income in India are prepared by the?
a) Ministry of finance

ST &2 b) Reserve bank of India

a) o e b) s e &% c) Central statistical organization
. , ) d) Planning commission

C) T FIEThrT T d) FTSTHET AT

76. Mes A Raferfea & & e arae & aaer %f; 76. Which among the following closest instrument to Gold
o " |ETR?

[a] fes=r [b] STT-8rk FTET [A] Debenture

[c] P e [d] =TT T [B] G-Sec security

[C] Mutual Fund
[D] Commercial Paper

77. 9 & | F A7 w2 Five F A Fwear 22
(a) U= fATSrT =97 2% F 9Ty UF i T AT
TS 3T AT AT AT § aga¥ e

(b) U= fATSra 9T 2% F AT UF i€ T AT AT 27
T A qAT H FF A

(C) T 3TART 4TS &% o AT U aie 3fi¥ [Ai%a sar 2%
JiT HT AT § sgaw e

(d) T ST AT &< 6 AT Ua I A< AT =37 3%
e A g1 H F9 ReA

77. Which of the following best defines a floating-rate
bond?

(@) A bond with a fixed interest rate and has better
yield than varying interest rate bond

(b) A bond with a fixed interest rate and has lower
yield than varying interest rate bond

(c) A bond with a varying interest rate and has better
yield than fixed interest rate bond

(d) A bond with a varying interest rate and has lower
yield than fixed interest rate bond

78. YL F T TAWTHT T TATEAT F97 Fgl AT 872

() SE T FI AT TAAT | STer a2 I Lo [oraT JA1aT 8
(b) = =it o TRl & forw q9 8

(c) & FT o FHET & o FHE A 8

(d) SUErE | & FIE AT HEl FROT A4l @

78. Why the Indirect taxes are termed regressive taxing
mechanisms?

[a] They are charged at higher rates than direct taxes

[b] They are charged the same for all income groups

[c] They are not charged the same for all income groups
[d] INone of the above is a correct reason

79. IiAaE ST T ATLTION WA § AR AT 7% AT
[a] eferg gaw afafa [b] 3% U= =T "t

(c] TH T "t

[d] =TE U "o HHT

79. The concept of ‘Universal Banking’ was
implemented in India on the recommendations of:

[a] Abid Hussain Committee [b] R H Khan Committee
[c] S Padmanabhan Committee

[d] Y H Malegam Committee
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80. arafaferdy fr wfEw =i (VGF) & way # fFwferfea
H & I 9T FI9 Gl Tal 67

[a] FSATE F Tga, Fg TeHTT arast=E Asir ArtErr
() W § Fraifead i T @ TR 6B IS
AW FT 2 0 % T T FHLAT 2l

[b] =8 FST T fa HaATe IRT YTt oA Srar gl
[c] ATSTTU o T oTe &= ShTeeara, Taresy 37 foraT €
[d] FSTTF U a1 o1 &, e G 70 Fare=t
TR AT &7 | ATH 35T Tahel T 2

80. Which of the following statements regarding the
‘Viability Gap Funding Scheme (VGF)’ is not true?
[a] Under VGF, the central government meets up to
20% of capital cost of a project being implemented in
public private partnership (PPP) mode

[b] The scheme is administered by the ministry of
finance.

[c] Sectors eligible for VGF are Infrastructure, health
and education.

[d] VGF is a force multiplier, enabling government to
leverage its resources more effectively.

81. Sh LaQshya '#T¥#H & a1 # fAfertad foei u<
[EEIESERY

1. WTIT ALY F THT Taresy ragrsi § o6y &9 i
HeafFET Arqeer foruesl & S@wrer i urar | e we
¥ forw “LaQshya” @tte= f3am|

2. THET 3297 AT ATq T FasTa gog &, Tt 37

o T H FH FAT 5

S FAAT H F AT AT Aol &/ 872
a) FaT 1 b) Faet 2
c) Tt d) FrE Tl

81. Consider the following statements regarding
‘LaQshya’ Programme.

1. Government of India launched “LaQshya” to
improve quality of care in labour room and maternity
operation theatres in all health facilities.

2. It aims to reduce preventable maternal and newborn
mortality, morbidity and stillbirths.

Which of the above statements is/are correct?

a) L only

b) 2 only

c) Both

d) None

82. siaeigiy fAuer aw=tarl (UNISA) I% S g
e & are ¥ Mwferfed Fwoet o e w1

1. Hh Y FTET F AU Ae™ aastal 97 995
TP Fea 9T T STTATAT ST HETEAAT o TROTHETET
FALEI RUeT q9=tdl F Tade & o0 U 07 si
FT FILET T&TF FLAT 2

2. THHT 3297 ATI ATl T & FIA % Ahiodsh 3
TATT TR o T § HAEET T FeTa7 <17 2

3. a7 +fy T g Moem "=t (UNISA) 7%
FIH T AR T gEATEAL AR (0 &)

YL FAAT H A AT AT ORI 8/ 32

a) 1,2 b) 1,3

)2, 3 d)1,2, 3

82. Consider the following statements regarding United
Nations Convention on International Settlement
Agreements (UNISA).

1. The United Nations General Assembly adopted the
United Nations Convention on International Settlement
Agreements which provides a uniform and efficient
framework for the enforcement of international
settlement agreements resulting from mediation.

2. It aims to promote mediation as alternative and
effective method of resolving trade disputes.

3. India has not yet signed United Nations Convention
on International Settlement Agreements (UNISA).
Which of the above statements is/are correct?

a)l,?2 b) 1,3

c)2,3 d)1,23

83. WA 92 F v ¥ fAwforera Fwuet 9% fF=m w1
1. ATET § S TAGTITIT HH ITeh 3T TEATLT AqTA
qTeh | 97T ST Bl

2. FFo AT At & T g gl

3. TEAT Uferthe % a8 T T8 F=T ¥ A9 2

SULIE FHIAAT § T HIT AT q6l 8/ 82
a)1,2 b) Fae 1
c)1,3 d1,2,3

83. Consider the following statements about Indian
Rhinoceros.

1. In India, rhinos are found in Jaldapara National Park
and Garumara National Park.

2. Only female rhinos have horn.

3. The rhino is the second largest land animal after

Elephant.

Which of the above statements is/are correct?
a)l,2 b) 1 only

c)1,3 d)1,23
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84. agqs T, g1 gt § HHM=RI § a@r 1T g

a) ATHTATS &1 TS faaett

b) srerw # s wret st fSorer & 9+ 41 e

) fRwTer % forw e it gor et s AR F s
TATT § ST T % F7 37 8

d) TF T I A9 IS

84. Polygonum mole, recently seen in news is a

a) State butterfly of Tamil Nadu

b) Dragon tree species in West Karbi Anglong District
in Assam.

c) A knotweed native to the Himalayas which has
begun taking root in the upper slopes of the Nilgiris.
d) A new vine snake species.

85. ATel ATLATT aTH SATHTT - 2018 F ¢ | Fwfertaa
FAAT I fa= F

1. Sfer EFRAT 2127 UETHeE- 2018 ¥ AT, 2014 %
AT T aTeT Y TEAT H 33% Fr FErad g% 2

2. G Y29 § ITLTEE & aT8 Had SATET 919 29 0|

3. TTEIT T SATATT T IR[AT XA 6 [oI0 AT o HeTHa(
T & ST STaagar gree #1 gl

e o & A AT A 3
a)1,2 b) 1,3
)23 d)1,2, 3

85. Consider the following statements regarding All
India Tiger Estimation — 2018.

1.As per All India Tiger Estimation — 2018, there is
33% rise in tiger numbers from 2014 estimation.

2. Madhya Pradesh saw the highest number of tigers
followed by Uttarakhand.

3. India has achieved its commitment to the
St.Petersburg Declaration, of doubling Tiger
population.

Which of the above statements is/are correct?
a)l,2

b) 1,3

c)2,3

d)1,23

86. 1T F Hae ® fAwferfera woet ux o= #)

1. T ST BT et % FT0r g aTeT UF

frar =7 B

2. Tg S AT TaogdT qAUT hi ATATH Tgd | gl
g HeRedT & =T g 2

3. fU=er 5 96t & qTed § g7 F THT ¥ F:rE e a8t
2l

YL FAAT H T 9 a7 T2 g / 82

a) ¥ 1 b) 1,2

c)1,3 d)2,3

86.Consider the following statements regarding
Cholera.

1.Cholera is an acute diarrhoeal infection caused

by bacterium Vibrio cholerae.

2. Cholera transmission is closely linked to inadequate
access to clean water and sanitation facilities.

3. There are no reports of Cholera outbreak in India in
the last 5 years.

Which of the above statements is/are correct?

a) 1 only

b) 1,2

c)1,3

d) 2,3

87. E-2020 92« & "ad # fMwferfea st av = #9)
1. 2-2020 TsUHAT gT AHIAT Tg &, Taf 2016 &

SEUAA I 3 901 AT TgAT 6t 7% o, FBreH 2020
T FATAT-TH T 7 7T 7|
2. TATAT 2016-2030 *F forw ST Tt To= T, 99

2020 TF FH T FH 10 F90T F FATAT F ITAT & o107
Fdl 2l

SYLIE FHAFT § H FIT AT qGr 8/ 872
a) Fa 1 b) #Faet 2
c) It d) #TE T

87. Consider the following statements with reference to
E-2020 initiative.

1. E-2020 is the initiative supported by WHO where
countries were identified by WHO in 2016 as having
the potential to become malaria-free by 2020.

2. The Global technical strategy for malaria 2016-2030,
calls for the elimination of malaria in at least 10
countries by the year 2020.

Which of the above statements is/are correct?

a) 1 only

b) 2 only

c¢) Both

d) None
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88. = fHeM & 9 # Awferfea oAt < o= #4

1. TATIFT =99 TStEt  PUNCH e & o % ared
FILET & T % & gl

2. T | gaT T & HT 37T /T g FIAA 719
TSFLT - ST CATSHT o 99T Foq9T & ST 94 &
FTATALOT F AT Haherd g

3. AT & FAST S Affacd-ud 1 < §F & FHET
T AT FH

IULE FAAT H T K9 AT 81 g / 82
a)1,2 b) 1,3
c)2,3 d)1,2,3

88. Consider the following statements regarding
PUNCH mission.

1.European Space Agency’s PUNCH mission will
image regions beyond the Sun’s outer corona.
2.The mission will track the solar wind and also the
coronal mass ejections — which are huge masses of
plasma that get thrown out of the Sun’s atmosphere.
3. India’s planned satellite Aditya-L1 will also study
the Sun’s corona.

Which of the above statements is/are correct?
a)l,2

b) 1,3

c)2,3

d)1,23

89. FMwfertad aam=T ¥ A= ¥ “gueaetaetadl’|

1. gueahetaetads v vl Rufa g S|+ v ameft aga
srter ferepa wia<rer feamdt 2l

2. UTEHSTHEAT ATHAT 11 f F=T |IAT 1 a7 qohel | &,

AT AT Forer e ITHTor a1 o forg o
T ST FRaT 2

3. qUEEETHfadl Fae 3 aTIH 9T & §9F 2|

YL HAAT H F 4 97 T & / 572
a)1,2 b)2,3
c)1,3 d)1,2,3

89. Consider the following statements about
“Superconductivity”.

1. Superconductivity is a state in which a material
shows very high electrical resistance.

2. Superconducting materials can save huge amounts of
energy, and be used to make highly efficient electrical
appliances.

3. Superconductivity is possible only at high
temperatures.

Which of the above statements is/are incorrect?
a)l,?2

b) 2,3

1,3

d)1,23

90. Frferfia ® & Fre &t g sweaten fAwtor & forg

ST &
1. srea T F Ao foro fAerfaa @ 12, v e, ST 9

ATFTFAT It 2

2. uiegETEe MATT % forw wifers uiEe araeds gl
3. RBC # fa#ior & feru faret aga wgea gl =i 2|
a). e 1 b). 1,23 ®E &
c).1 3T 2 d). ¥aer 137 3

90. Which of following statment/s is appropriate for
RBC formation:

1. For formation of RBCs vitamin B12, B6, B9 are
required.

2. Pholic acid is essential for Erythrocyte formation.
3. Kidney is very important organ for the formation of
RBC.

A.Only 1.

B. 1,2 and 3 are correct.

C.land 2.

D.Onlyland 3.

91. fReferfad wuet o= fo=m 1
1. e T | =f<h SSiie & aF e | 1T 2l
2. IS AT FITEAST 6 00 & ST ST 2

S [T T FAAT | & HI7 9T daf & / 82
a). Fae 1 b). Fae 2
c). T 1 3T 2 d).Tar1ixTEr2

91. Consider the following statements:

1.Cigarette smoking exposes a person to benzene.
2.Benzene is known carcinogen.

Which of the statements given above is / are correct?
a). Lonly

b). 2 only

¢). Both 1 and 2

d). Neither 1 nor 2
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92. Meferied Fwaet 9 o= i
1. HETSIEH I & I SEAATERE J2AT 92 FA o

2. geft SR i 9v T6gT 9 T EEE R i
TATHICH TATH FIA § FATT HILO & A gl T

S T30 U FordT # | i A1 G2 2 /62
a). Fae 1 b). & 2
c). T 1 3% 2 d).Tar 13X AEr2

92. Consider the following statements:

1. Dinosaurs roamed the earth during the Mesozoic era.
2. All Dinosaurus and other reptiles such as
Ichthyosaurus and Pterosaurus. became extinct due to
unknown reasons in Triassic period.

Which of the statements above given is / are correct?
a). Lonly

b). 2 only

c). Both 1 and 2

d). Neither 1 nor 2

93. T TS g A I HGAT il @I TN § T@T 7T &
T THHT Ut IO g g -

a). Tt TASi{erd aT ST & 37T 7Y STl 8

b). AT | ST g ST AL AT 2

C). AT A AT TFENAS ATHET | TET g 3T 7T
STAT B

d). Tt TRt 9T IS AT wara Al g Ford % agt
TTH AT 2l

93. A healthy freshwater fish is placed in saltwater. The
expected consequence of this would be that

a). the fish becomes dehydrated and dies

b). the fish becomes bloated and dies .

c). the fish suffers from fungal or bacterial disease and
dies.

d) . ther is no observable effect on the fish provided
there is sufficient food.

94 T & & FTH & "ay |, Fuferied a9 7w fF=w
EOs

1. & | A9TIE T geT & a7, (hee T @ &t oA+ %
HTETH F ATIE FSAT 7T 2

2. A % v ¥, hees ave Fie ST o grah< o]
&, STEl T T agd ST ATy 2T g <

T T | 6 § aTI6 911 747 5| Feferfaa & & #9

AT EE 8/ 22
a). Fa 1 b). &<t 2
c). FT 1 3 2 d). Tar 1w TE2

94. With reference to the work of human kidney,
consider the following statement:

1. After the waste is remove in the kidney, the clear
blood is sent back through renal artery.

2. From Bowman’s capsule, the filtered liquid passes
through tiny tubes where much of the gluclose is
reabsorbed and sent back to the blood in the renal vein.
Which of the following is/are correct?

a). Lonly

b). 2 only

c). Both 1 and 2

d). Neither 1 nor 2

95. frforfd & & &9 &7 Fu T2t 781 2

a). 3§ FrE A A-Ferta 72t grar 2|

b). fareTie-u (xfeaer) it Fft & goF &Y TaEe @=r
2T ST 2

c). THAT F AN H F U g SISl | 34|

d). fera=-=f, (amatam) &t w6t & &= 7 2w o Fehar
el

95. Which one of the following statement is NOT
correct?

a). Milk contains none of the B-vitamins .

b). Vitamin-A (retinal) deficiency leads to dry and
scaly skin.

c). One of the symptoms of scurvy is pain in the joints.
d). Vitamin-B, (thiamine) deficiency can lead to heart
failure.

96. AT 7 TS § 7T 50 AT TS FATAT?
a). I 1
b). ST 13
c). FIT=T 11
d). T 5

96. NASA was commemorating the 50th launch
anniversary of which history mission in July?
a). Apollo 1

b). Apollo 13

c). Apollo 11

d). Apollo 5
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97. Ftef=ae 94 A% a7 (BSI) 3T Ao 99
AT SIAT (ZS]) T T ATRET 6 Tqae a9 2018 #

T & Fraey 92 ISTraat i gy 7 75?
a) 596 b) 540
c) 525 d) 510

97. How many new species were discovered from India

in the year 2018 as per the data released by Botanical
Survey of India (BSI) and the Zoological Survey of
India (ZS1)?

A.596

B.540

C.525

D.510

98. THIT WM . T¥rae T "T90T % ST, e ad #
AT STIAT AT ATHITH S HTA hl ATSTHT FAT LT
2?

a) 2025
c) 2028

b) 2026
d) 2030

98. As per announcement by ISRO chief K Sivan, in
which year India is planning to launch its own Space
Sation?
a). 2025
b). 2026
c). 2028
d). 2030

99. [ Tt & TrwATH F forw FDA F wger 3 Jsfie
T HSET &7 T8 AT faT T g

99. . FDA approved first Dengue vaccine for the
prevention of dengue disease. It's named as;
a). TetraVax-DV

a). TetraVax-DV b) .DENVax b) .DENVax

: c). CYD-TDV
c). CYD-TDV d). Dengvaxia d). Dengvaxia
100. THIT ¥ PSLV C-45 ¥ #1er EMISAT fFare =T 100. ISRO Launches PSLV C-45 Carrying EMISAT

o with how many Nano satellite?
ITIE A= a2 (3).28
(a) 28 (b) 12 (b).12
(c) 25 (d) 32 (c) .25
(d).32
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